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® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)?
® a*-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+Db)

® acx® 4 (ad + be)x + bd = (ax + b)(cx + d)
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@ (x—y-1)(x+y+6) @ (x=y+1)(x—y-6)
@ (x+y+2)(x—y-13) @ (x-y-2)(x+y+3)

® (x—-y-1)(x-y+6)



T. 6xy—-8x—9y+12 = (ax+b)(cy+d) AN a+b+c+d2 @S
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® 922 +6x+1=(_ h+1)

@ 222 +7x+[ |=(@2x+1)(x+3)
@ 16x% - 9y? = (4x+[_ly)(4x - 3y)
@ 4x% -12x4+9 = (2x -] )2

® 2] k+3=(x-1)(x-3)
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® 3(x-2)* @ 3(x+2)°

® 2(x-2)(x+2) @ 3(x-2)(x+2)

® 3(x-4)(x+5)



12, (2x+1)2-(x-2)2 = 3x+a)(x+b) € W, a+3b 2] FL-S F5HH?
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13. 2 —2xy+y2 +2x—2y -3 Q1B

D (x-y=-3)(x-y+1) @ (x+2y+3)(x—y-1)
@ (x-y+3)(x-y-1) @ (x-2y-3)(x-y-1)

® (x-y+3)(x-2y+1)
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